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And if he was a Kohain, — 31272 YAY 7N KD 370 707 ANy
she should not live in the same street with him

OVERVIEW

The &n>>92 teaches that if a 5% divorces his wife they should not live in the same
a19w;' however if a 179 divorces his wife they should not live in the same street
(even if it is a different Mow).> Our Moon qualifies this ruling.
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For since she is (only) a 19 (there is no MoX of WX nwX), he does not take

Seriously the prohibition of w173, and we are concerned that they will be intimate -
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However if she remarried, the 17> must only distance himself from her from

being in the same 75w -
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Which is within three houses as the X773 states in the end of the first =9 of noon
1"'W; the reason they may live in the same M12n is -
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That since she remarried it is a severe prohibition even for the 372.

SUMMARY

A HX° may live in the same 7219W as his former unmarried wife. If she remarried
they may live in the same *12» but not in the same 7112w, this applies to an 72 NWX
as well. However by a 772 if she is still single he may not live even in the same 127

! See X% 71"7 *"wA that the prohibition is only if she remarried, however if she is still single they may both live (even)
in the same 71115W (since she is still eligible to remarry him).
* This would apply by a 715 for she is forbidden to the 373 since she is a 7213
? Mmoo may be responding to the following question; the prohibition of X"X (regarding the 9X°) is (a 7"°2 N 21N
which is) more severe than the prohibition of 7w (which is ‘merely’ a WR%); why therefore are we more strict by
the 175 (to forbid him even in the same *12n) than by the %> (who is only prohibited in the same 7115w). MO
replies that indeed the leniency is the cause for the strictness.
* The x> may live in the same "127 as his remarried former wife, since there is the 710k of X"X; it follows that by a
172 where in addition to the 710°X of X"X there is also the 710°R of w113, he may also live in the same "1 as his
former remarried wife (but not in the same 7110w).
> The "\9°5X', may mean that even though that regarding a 715 we are very strict regarding a 772 (that they cannot
live even in the same "2 (while a X% may live even in the same 715®), nevertheless if she is remarried even a 173
may live in the same >121. Alternately, one may think that since there are two 2°M0°X by a 172 (R"X and 7w173) so
perhaps we should be stricter by a 3713 than for a >X7w», therefore '0wn writes that the Mo°X of R"X is so severe that
there is no concern even for the 3772.
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as his former unmarried wife.

THINKING IT OVER

How can we justify (according to n1v0wn) that the X of the Xn>72 (regarding a
oX7w° [and (also) a 772]), is discussing a remarried woman, while the X2°0 of the
same XnN”72 (regarding a 172) is discussing a single woman?
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